518 (3% ER - BHD#) o1

£ #H H-K2
*RDXZRRAE &,
D a@+y) @ 2x(3x+y+52)
—ax+ay = 62 + 22y + 10xz
Q@ @-7)x+4) @ (x+8)?
=2’ -3x-28 =22 + 162+ 64
B @+3)x-3) ® (x+4)x+5)
=2’ -9 =22 +9x+20
@D (x-6y (@+I)@—1)
—x? —12x+36 —2f -1
S ROXERKNEE &Ko
@ am-bm 4ma +8mb + 10mc
=m(a—b) = 2m(2a +4b +5¢)
@ x*-100 @ »*-62+9
= (x+ 10)x—-10) = (x-3)
® x* -3x-28 2 +x-30
= @+ DHx-7) = (x+6)(x—-5)
® * +7x+10 2 -36
= (x+5)x+2) = (x+6)(x - 6)
@ 22 -8x+12 22 +10x+25
= (x-6)(x-2) = (x+5)

ORDKEHHEIZHE &,

@-3)7 +x(x+2)

=xf—6x+9+2%+2x
=222 —-4x+9

Q@ x+6)x—1)—(x—4)*

=% +5x—-6—(x* —8x+16)
=l +5x-6-x%+8x-16
=13x-22




58 (35 REHFE - BHoEE) o2
£ #H H-K2
*RDXZRRAE &,
@ a@m-n) @ by(x—3y +22)
—am —an = 5xy — 15y + 10yz
@ (@-6)(x+4) @ (x+1)
—a? —2r-24 —a? +2x+1
® (x+6)x—-6) ® (x+2)x+5)
—22 - 36 =22+ 7x+10
@D (x-5y (@+4)ax—4)
—2? —10x+25 —22-16
S ROXERKNEE &Ko
© ax-bax 7ay + 14by —21cy
= x(a—b) = 7y(a +2b - 3c)
@ »*-64 @ > —4x+4
= (x+8)x-8) = @x-2)
® x*-2x-63 2* +3x—18
= (x+ 7)x-9) = (x+6)x—3)
® o2 +11x+18 22 —-25
= (@ +9)x+2) = (x+5)x—5)
@ x*—5x—14 22 + 14+ 49
= @+2)x-7) = (x+7)

ORDKEHHEIZHE &,

@-3)x+4)—x@x+1)

=l +x-12-2%-x
=-12

@ (x-7) - (@+5)x-3)

=xf —14x+49 - (&% +2x—15)
=xf —14x+49-x* -2x+15
=—16x+64




518 (3F R - RYOHKE) 03
£ #H H-K2
*RDXZRRAE &,
@ m(a+b) @ 3z(x+2y +32)
=am +bm = 3xz + 6yz + 92°
Q@ @-7)x+3) @ (x+9)*
=i —4x-21 =2 +18x+81
® (x+5)x-5) ® (@+4)@+5)
=2’ -25 =2% +92+20
@D (x-7y @ +3)@-3)
—o% — 14x+49 =2’ -9
ORDXEEHAEE £,
@ ab-ac 6ma + 9mb + 12me
=a(b-c) = 3m(2a + 3b +4c)
@ »*-81 @ > —4x+4
=@+ 9)(x-9) = (x-2)
® x*-3x-28 2’ +x-56
= @+4)@-7) = (@ +8)(x-7)
® o +7x+12 x°-25
= @+ 3)(x+4) = (x+5)(x-5)
@ x* -9x+20 2* +8x+16
= (@-4)(x-5) = (x+4)
ORDAXZEHEIZE &L,
(@— 1) +a(x+2) @ (x+6)x—6)—(@—6)
=% —2x+1+2° +2x =2? ~36 — (&% — 12x+36)
=2¢% +1 =2’ -36 -2 +12x-36
= 12x-72




518 (3% ERF - REDEE) 04
£ #H H-K2
*RDXZRRAE &,
@ m(a-b) @ 2a(5a-2b+3c)
= am —bm = 10a’ — 4ab + 6ac
@ (@-5)(x+4) @ (x+7)
—2f —x—-20 =2 + 14x+49
® (x+5)x-5) ® @+2)x+4)
] —2% +6x+8
@D (x-17 (x+3)x—3)
—a? —2x+1 22 -9
S ROXERKNEE &Ko
© ab+ac 12ax + 9bx— 6cx
—a(b+c) = 3x(4a +3b —2c)
@ »*-81 @ x*-10x+25
= (@ +9)x-9) = (x-5)
@ x* +2x-24 2’ —x-56
= (x+6)x—4) = (X + 7)x—8)
® 22 +7x+10 2216
= (@ +2)x+5) = @+ DH(x—-4)
@ x*-9x+20 ©* +16x+ 64
= (x—4)x—-5) = (x+8)

ORDKEHHEIZHE &,

(x—4)Y —x2(x+3)

=2 -8x+16-x° -3x
=-1lx+16

@ x+5E—-2)-(x-3)*

=xf+3x-10—- (x* —6x+9)
=x?+3x—-10-x° +6x-9
=9x—19




518 (3% ERF - IHO#E) 05
£ #H H-K2
*RDXZRHAE &,
D cx+y) @ 7x(a—-3b-2c)
—cx+ey = 7ax - 21bx - 14cx
@ @-6)x+8) @ (x+2)
=2’ +2x—48 —2? +4x+4
® @+Hx-4) ® (@+Dx+3)
—22-16 —2f +4x+3
@D (x-7y (@ +5)@x—-5)
—x? —14x+49 —2?-25
S ROXERKNEE &Ko
© am —bm 6ay + by — 15y
=m(a—b) = 3y(2a +3b - 5¢)
@ 22 -1 @ x*-6x+9
= @+ D)(x—-1) = (x-3)
® 22 -x-42 22 +3x-28
= (@ +6)x—7) = (x+ 7)(x—4)
® »? +12x+27 - 81
= (@ +3)x+9) =@+ 9)(x-9)
@ 22 —4x—45 2 +4x+4
= (x+5)x-9) = (x+2)

ORDKEHHEIZHE &,

(x-3)@x—-2)+x(x+5)

=xf -bx+6+x°+5x
=212 +6

@ (x-6) —(x-4)(x+2)

=2 -12x+36— (x* -2x-8)
=xf - 12x+36 -2 +2x+8

=-10x+44




518 (3% ERF - IHD#kE) 06
£ #H H-K2
*RDXZRHAE &,
@ x(a+b) @ 3a(2a+b->5¢)
= ax+bx = 64’ +3ab - 15ac
@ @-6)x+3) @ (x+4)
—2? —3x—18 —2’ +8x+16
® @+3)x-3) ® (x+6)x+5)
22 -9 =2 +11x+30
@D (x-6y x+9)x-9)
—x? —12x+36 — 22 - 81
S ROXERKNEE &Ko
© ax-ay 5ma — 10mb + 15mc
=a(x—-y) = 5m(a —2b +3c)
@ x*-49 @ »*-8x+16
=@+7)(x-7) =@x-4)
® x* —5x-24 2 +x—12
= (@ +3)x-8) = @+ 4)x-3)
® 2% +6x+8 -9
= @+2)(x+4) = (@ +3)x-3)
@ «? -122+32 22 +10x+25
= (x-8)x—4) = (x+5)

ORDKEHHEIZHE &,

(@x-2) —x2(x—-3)

=xf —4x+4-2%+3x
=—x+4

@ x+5)@x—-5)—(x—7)*

=22 —25— (i — 14x+49)
—x? —25— 2% + 14z —49
=14z - 74




578 (3% ERM - BHED#) 07

£ #H H-K2
*RDXZRRAE &,
D a@m+n) @ 5a2a+b-3c)
=am +an = 10a* +5ab - 15ac
Q@ @-6)x+2) @ (x+3)*
—xf —dx-12 =2’ +62+9
® (x+5)x-5) ® (x+3)@+6)
=2’ -25 =2’ +9x+18
@D (x-2y (x+6)x—6)
—x? —dx+4 =2’ -36
S ROXERKNEE &Ko
Q@ 2 -ay 3ax— 6ay +9az
= 2(x—y) = 3a(x -2y +3z)
@ % -49 @ x*—10x+25
=@+7)(x-7) =@-5)’°
® 2*-x-56 o +4x—12
=@+ 7)(x-8) = (x+6)(x-2)
® 22 +4x+3 x° —64
= (@+3)(x+1) = (@ +8)(x-8)
@ o —11x+24 2 +8x+16
= @-3)(x-8) = (x+4)

ORDKEHHEIZHE &,

(@—-1)? +x(x—-5)

=x? -2x+1+x%-5x
=212 -7x+1

@ x+3)HE—-3)—(x-5)*

=2 -9 (2% - 10x+25)
=xf-9-22 +10x-25
=10x—-34




518 (3% ERF - I#O#E) 08
£ #H H-K2
*RDXZRRAE &,
@ a-c) @ 3yx—~y+52)
=ab—ac = 6xy - 3y° + 1592
Q@ @-3)x+9) @ (x+5)°
=2 +6x-27 =% +10x+25
® @+x-4) ® (x-3)a-9)
—22-16 —2% - 8x+15
@D (x-3y x+8)x—38)
—2% —6x+9 —2’ —64
S ROXERKNEE &Ko
@ ay-by 5ax+ 15bx —25¢x
—y(a—b) = 52(a +3b - 5¢)
@ x2-9 @ 2> -12x+36
= (@ +3)x-3) = (x-6)
® 22 -2x-48 @ 22 +10x+21
= (x+6)x—8) = (X + 7)x+3)
® 22 -8x+12 @® 2% -1
= (x-6)x-2) = @+ D)(x—-1)
@ x*-2x-63 ® x? - 18x+8I
= (x+ 7)x-9) = (x-9)

ORDKEHHEIZHE &,

(@-5)x+4)—x@x—1)

=xf—x-20-2°+x
=-20

W (x-4)y° - (x+2)(x-8)

=x? -8x+16 - (x° —6x—16)
=xf-8x+16-x% +6x+16
=2x+32




58 (3F R - IO 09
£ #H H-K2
*RDXZRHAE &,
@ x(a+c) @ 3m@x—y+32)
=ax+cx = 6mx— 3my + 9mz
@ (@-7)(x+5) @ (x+4y
=2’ —2x-35 =2’ +8x+16
® (x+6)x-6) ® @+4)x+2)
=% -36 =2’ +62+8
@D @-87 @+ 10)(x - 10)
=2’ — 162+ 64 =a? 100
ORDXEEHAEE £,
© ax-ay 4a® +8ab — 12ac
=a(x—-y) = 4a(a +2b-3c)
@ 2?64 @® x*-6x+9
= (@ +8)(x-8) = (x-3)
® «* —4x-32 © +3x-28
=@+ 4)(x-8) = (x+ 7)(x—4)
® »? +11x+30 x —49
= (x+5)(x+6) =@+ 7)(x-7)
@ x?-11x+24 x? +10x+25
= @-3)(x-8) = (x+5)

ORDKZEHHEIZHE &,

(@ -3y +x(x—5)

=2 —6x+9+x° -5x
=2¢?-11x+9

Q@ x+4)@x—-4)—(x+3)?

=2 -16— (X +6x+9)
=xf-16-2% -6x-9
=—6x—-25




518 (3F R - RMDO#) 10
£ #H H-K2
*RDXZRRAE &,
@ s(@-b) @ 7x(dx—3y +2)
=as —bs = 2827 — 21y + 7az
® @-5)x-4) @ (x+6)
=a” ~9x+20 —2? +12x+36
® @+ x-1) ® @x+3)x-5)
—2f -1 =2’ -2x-15
@D (x-2y @+ 7)@—7)
—x? —dx+4 =a” 49
S ROXERKNEE &Ko
@ ac+be 12ma — 8mb +4mc
=c(a+b) = 4m(3a—2b +c)
@ x*-16 @ x? —14x+49
= @+ DH(x—-4) = @-7)
® x*+7x-18 2’ ~2x-63
=@+ 9)(x-2) =@+ 7)(x-9)
® 2% +9x+20 2’ -25
= @+ )(x+5) = (x+5)(x-5)
@ x* - 10x-24 2 +2x+1
= (@+2)(x—-12) = (x+2)

ORDKEHHEIZHE &,

(x—5)Y —x(x—7)

=2 -10x+25 -2 +7x
=-3c+25

@ (x+6)x-3)— (x+4)(x—4)

=2’ +3x— 18— (x* - 16)
=xf+3x—-18-x% +16
=3x-2




